



सेन्ट्रल माईन प्लानिंग एण्ड डिजाईन इन्स्टीट्यूट लि.

कोल इंडिया लिमिटेड की अनुषंगी कंम्पनी/भारत सरकार का एक लोक उपक्रम
क्षेत्रीय संस्थान-5, एसईसीएल काम्पलेक्स, सीपत रोड, बिलासपुर 495006 (छ.ग)

Central Mine Planning & Design Institute Limited

cmpdi

A Subsidiary of Coal India Ltd/ A Govt. of India Public sector Undertaking

A
Ratna
ISO
Company

Mini
and
9001

CIN:U14292JH1975GO1001223

RI-V, SECL Complex, Seepat Road, Bilaspur (CG)- 495006

ई-मेल / e-mail: rdri5.cmpdi@coalindia.in

Tel: 07752-246481-492

Fax: 07752-246481



क्र. सी.एम.पी.डी.आई./आर.5/ ई. & एम/LED flood Itg/ 3930

दिनांक- 15.02.2017

कोटेशन - नोटिस (NIQ)

Sealed quotations on percentage rate basis are invited for the following work at residential colony CMPDI RI-V, Bilaspur :-

SL NO.	DESCRIPTION OF WORK	ESTIMATED COST Rs	EMD	APPLICATION FEE FOR TENDER DOCUMENT	PERIOD OF COMPLETION
1	Providing and fixing 100 W LED flood light luminaries for play ground in residential colony CMPDI RI-V Bilaspur.	1,86,664/-	1870/-	NIL	15 DAYS

1. Issue of Quotation Document:

Quotation Document (comprising of NIQ and BOQ) will be issued free of cost from the O/o the HOD (E&M) to individually on requisition in writing from the intending quotationers or their accredited representatives, during working hour (10.00 am to 1.30 pm and 2.30 pm to 5.00 pm) except on Saturday(10.00 am to 1.30 pm only). The Quotation Notice can be seen in CMPDI website www.cmpdi.co.in

- A. Begins on: 15/02/2017
- B. Closes on : 28.02.2017
- C. Last date for receipt of application / requisition: 28.02.2017 up to 11.00 a.m.
for issue of Quotation Document

2. Submission of Quotations starts from 15/02/2017 to 28.02.2017 up to 3.00 p.m. on this day only

3. Opening of Quotations: On 28.02.2017 at 3.30 p.m.

4. Place for Submission & Opening of Quotations: -O/o the HOD (E&M), RI-V, CMPDIL, Bilaspur.

5. Quotations thus submitted shall consist of the followings:-

- I) EMD is to be deposited in any of the following form:-
 - a. DD/Banker's cheque in favour of CMPDIL, Regional Institute, Bilaspur (CG) on any Scheduled Bank payable at Bilaspur (CG)."

- ii) Price Bid/ Scope of work at Annexure A must be duly filled in and signed on all pages with seal.
- iii) PAN (Permanent Income Tax Account number) Xerox copy.
- iv) The tenderer must possess a valid electrical contractor's license 'A' issued by competent licensing authority. Xerox copy of the license should accompany the offer.
- v) VAT/ TIN Registration Certificate Xerox copy must be submitted.
- vi) Service Tax Registration Xerox copy must be submitted
- vii) Experience related the cable laying work Xerox copy of the Work Order with completion Certificate must be submitted.
- viii) All credentials / NIQ documents must be submitted with duly signed and seal of the quotationer.

6. Terms and conditions

- i. The work shall be executed strictly as per the items and specifications in Bill of Quantity (BOQ),
- ii Terms and conditions Shall be as prevailing in RI:V, CMPDIL and as per Modified Manual for Civil Engineering works`15, which is available at the website of the www.coalindia.in
- iii The work should be completed within 15 days from the issue of WO.
- iv In addition , within a period of 30days from the date of issuance of LOI/Work Order in case the contract period is more than 30 days and within 7 days in case of contract period is less than 30 days , the contractor will register in the Contract Labour Payment Management Portal(CLPMP) of CIL and will enter and periodically update the following details in the portal.
 - a. The Contract Registration Details
 - b. LOI/Work Order Details
 - c. The contractor will enter and update contractor workers details and Wage Payment Details in respect of each workers.
- 7. Liquidated Damage: - In case the work not done within the stipulated period, an LD of 0.50% per week up to a maximum of 10.00 % will be deducted from the bill.
- 8. Payment Terms: 100% payment will be made within 21 days on submission of bill after successfully completion of the work.
- 9. Paying Authority: - HOD (Finance), CMPDI, RI-V, Bilaspur (CG)

भवदीय

विभागाध्यक्ष (ई. & एम.)

Distribution :

1. RD RI-V , Bilaspur for kind information
2. GM (E&M) SECL, HQ, Bilaspur With a request to display at Notice boards
3. HOD (Finance), RI-V, CMPDI, Bilaspur.
4. All Notice Boards in RI-V, Bilaspur
5. Web site of CMPDI Ltd www.cmpdi.co.in..

Price Bid for providing and fixing 100 W LED flood light luminaries for play ground in residential colony CMPDI RI-V Bilaspur.					
SI. NO.	DESCRIPTION	UNIT	RATE	QTY	AMOUNT
	NON DSR				
1	Supplying , fixing, testing and commissioning of 100 w LED flood light in lighting luminaries, all complete to be fixed on existing pole as required.	Nos	12400.00	12	148800.00
BASED ON CG PWD SOR 2015					
2	Supplying and fixing of 32 mm dia x 2mtr long GI pipe (light) bracket for mounting street light fittings of all types on existing poles including bending the pipe to the required shape , 2 nos 40x3mm flat iron clamps with bolts and nuts including wiring with 1.5 sqmm W.P/ PVC wire etc. as required. (code no. 21.15)	Each	823.00	4	3292.00
3	Supplying and laying of 4x16 sq. mm. PVC insulated,PVC sheathed,steel armoured, aluminium conductor power cable of 1.1KV grade. (code no.17.1.23)	Mtr	291.00	90	26190.00
4	Supplying and Fixing of 20x15x15 cm water tight terminal box made of 1.6mm thick M.S. sheet with detachable gland plate in bottom , hinged front open able cover ,rubber gasket , having 2 nos 4way connector and 1 no SPMCB inside the box for cable connection , fixed to pole with 2 Nos clamp made from 40x3mm M.S. flat with 2 No nut bolt duly painted with 2 coat of red oxide paint and 2 coat aluminium paint complete as required. (code no.21.16.1)	Nos	653.00	2	1306.00
BASED ON CPWD DSR 2014					
5	Supplying and drawing 2x2.5 sqmm size of FRLS PVC insulated copper conductor, single core cable in the existing surface/recessed steel/ PVC conduit as required. (code no. 1.17.11)	Mtr	53.00	110	5830.00
6	Supplying and embedding 32 mm dia G.I. pipe (medium class) in pole collar/ foundation (during casting) for cable entry including bending the pipe to the required shape complete as required. (code no.11.6.1)	Mtr	285.00	2	570.00
7	Supplying and fixing 16 amps rating , 240/415 volts,"C" curve, miniature circuit breaker suitable for inductive load of Single pole in the existing MCB DB complete with connections, testing and commissioning etc. as required. (code no.2.10.1)	Each	169.00	4	676.00
	Total (Rupees one lakh eighty six thousand six hundred sixty four only) excluding service tax				186664.00

.Offered rate will be -----% (-----) in words above/ below or at par the estimated value. Note: (Rates are inclusive of all taxes but excluding Service Tax)

Signature of the bidder with seal

